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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-8 0
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P3-8

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS EFE

06:45 283 150.0 2.583 5| THAe06:45 KEFEF (RAERES)
07:15 283 150.0 2.583 5| THRe07:15 KENFEF CGRAEESE)
07:45 283 150.0 2.583 5| FEAe07:45 KEIEFE CGRAEESE)
08:15 283 150.0 2.583 E(  FiHAe08:15 KEFEF (GRAERE)
08:50 283 150.0 2.583 | FHEAe08:50 KENFEF (KAIERE)
09:20 283 150. 0 2.583 E(  FiHRe09:20 KEFEF (GRAERE)
09:50 283 150. 0 2.583 F|  FiHAe09:50 KREFEF (RA{LREIEE
10:20 283 150.0 2.583 5| FHERe10:20 KENFEF CGRAEES)
10:50 283 150.0 2. 583 5| FEA@10:50 KENFEFE CGRAMEEE)
11:20 283 150.0 2.583 5| FHA@11:20 KENFEF CGRAMEEEE)
11:50 283 150.0 2.583 5| FEAe11:50 KENFEF CGRAMEEEE)
12:20 283 150.0 2.583 5| FHA@12:20 KENFEF (CGRA{ERNEE)
12:50 283 150.0 2.583 5| FHAe12:50 KEIEFE CGRAFESE)
13:20 283 150.0 2.583 5| FHA@13:20 KENFEF (CGRAMEEEE)
13:50 283 150.0 2.583 5| FHA@13:50 KENFEF (GRA{ERNEE)
14:20 283 150.0 2.583 5| FEAe14:20 KEIEFE CGRAMFESE)
14:50 283 150.0 2.583 E(  FiHAe14:50 KREFEF CGRAERESE)
15:20 283 150.0 2.583 5| FHRe15:20 KENFEF CGRAEESE)
15:50 283 150.0 2.583 5| FEAe15:50 KEIEFE CGRAFEESE)
16:20 283 150. 0 2.583 E(  FiHAe16:20 KREFEF CGRAERE)
16:50 283 150.0 2.583 5| FEAe16:50 KREFEF (KRAERS)
17:20 283 150.0 2. 583 5| FEAe17:20 KEIEFE CGRAMFESE)
Bit] 6226.0 (22)%) 3300. 0 329303 %EC: 2080.0, PH: 6.0

[E;&REC 5247.0 K5, EiNF{KECAE&M%ER
HEKECE (1847.0 vs 5247.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-8_0, Day=74 (2025-06-11)
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P3-8

BfiE) | EBAK (R | EHE (EHRH/K) | ERERE (/R | XK R

06:55 283 150.0 2.583 5 1B21%@06:55 B3h (K BIEREE)
07:25 283 150.0 2.583 & B2i%@07:25 Bz (kPBEREE)
07:55 283 150. 0 2.583 5 BRi&@07:55 Bz (RFA{EREIEE
08:35 283 150.0 2.583 5 Bi%@08:35 B3h (FKAFEREE)
09:10 283 150.0 2.583 5 Bi%@09:10 Bzh (kPBIEREE)
09:40 283 150.0 2.583 5 Ri%@09:40 Bz (REEEEE)
10:15 283 150. 0 2.583 5 ’Ri%@10:15 Bz (RAERKSE)
10:45 283 150.0 2.583 5 B2i%@10:45 B3 (RBEREE)
11:15 283 150. 0 2.583 & Ri%e11:15 Bzh (GRAERESE)
11:45 283 150. 0 2.583 5 Ri%e11:45 Bzh CGREAMERESE)
12:15 283 150.0 2.583 5 Bige12:15 Bzh (kBEREE)
12:45 283 150. 0 2.583 & Ri%e12:45 Bz (GRAERSE)
13:15 283 150. 0 2.583 & ]Ri%e13:15 Bz (RAERSE)
13:45 283 150.0 2.583 5 Bi%@13:45 Bah (kAHEREE)
14:15 283 150. 0 2.583 = Ri%e14:15 Bzh (GRAERSE)
14:45 283 150.0 2.583 5 BRige14:45 Bzh (REERESE)
15:15 283 150. 0 2. 583 5 Bi%@15:15 Bz (kBEREE)
15:45 283 150.0 2.583 & Bi%@15:45 Bz (kBEREE)
16:15 283 150. 0 2.583 5 BRi%e16:15 Bz (RAERESE)
16:45 283 150.0 2.583 & B1&@16:45 B3h (KRBERSE)
17:20 283 150.0 2.583 B SFHiT017:20 B3 (GRAHEREE)
23t]5943.0 (21%) 3150.0 3298053 %EC: 2080.0, PH: 6.0

[Bl;&EC 5357.0 K&, EiFA{RECAE&itkER
#[EKECE (1887.0 vs 5357.0) 15
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m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0
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m=520,m FV0=0 m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0
45
—— MW —— MW —— MW —— MW
44.5 - 44 -
44 -
44.0 - 441
43 -
43 -
43.5 -
2 43 -
43.0 A 42 -
42.5 4 41 - 42 -
41 -
42.0
40 . 41 - 40
T T T T T T T T T T T T
520 525 530 570 575 580 610 615 620 655 660 665
m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
45 45 -
—— MW —— MW 45 —— MW 45 —— MW
44 - 44 - 1 44 -
43 - 43 - 13 4 43 A
42 1 42 - i
42 - 42
41 41 - i
41 a4
690 695 700 730 735 740 765 770 775 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
46 -
45 4 —o— MW 45 4 —o— MW —o— MW —o— MW
45 7 45 -
44 - 44 -
44 + 44 -
43 - 43 -
43 - 43 -
42 1 42 1
42 421
41 - 41 ~
T T T T T T T T T 41 L T T T
835 840 845 875 880 885 915 920 925 965 970 975



m=1010, FVO=0

46 -
—— MW
45 -
44 -
43 -
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T T T
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P3-8

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:35 278 150.0 2.583 FA| 1BRi%@06:35 B3h (FKAIEREEE)
08:15 278 150. 0 2.583 |Z=| {Ri%e08:15 Bzl (REZHE)
08:55 278 150.0 2.583 |Z=| {Ri&e08:55 Bz (KREAEZEHE)
09:50 278 150.0 2.583 (Z=| {Ri%@09:50 Bzh (FAERHSE)
10:40 278 150. 0 2.583 | =| {Ri%e10:40 Bz (REZBE)
11:15 278 150.0 2.583 |Z=&| Bige11:15 Bz CGRAEREE)
11:55 278 150.0 2.583 |Z=| {Ri&e11:55 Bz (GREERSE)
12:30 278 150.0 2.583 |Z=| {Ri&e12:30 Bz (REAEZBE)
13:15 278 150.0 2.583 |/hfu| {Ri&e13:15 Bz (GREEZEBE)
13:45 278 150.0 2.583 [/\ifi| {Ri%@13:45 Bz (REAEHSE)
14:15 278 150.0 2.583 FR| {Ri&@14:15 Bz CGRAEREE)
14:45 278 150.0 2.583 FA| 1BRi%@14:45 Bzh (RAERSE)
15:20 278 150.0 2.583 (£=| {Ri%e15:20 B3 (RAEZSE)
16:15 278 150.0 2.583 |Z=| {Ri&e16:15 Bz (REAEZEBE)
17:05 278 150. 0 2.583 |Z=| {Ri&e17:05 Bz (REEZEBE)
2it] 4170.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

FHEKRECE (1897.0 vs 4227.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1808 3

P3-8 0, Day=72 (2025-06-09)

150 A

100 A

50

200 3

150 -

100 -

50 A

2500

152 1969
1600 65639

60

60 Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

46 49 -
—-o— ME 48 -o— ME -o— ME
47.5 a4
47 48 -
45.0 4
42 46 4
42.5 A 47 -
40 - 45 -
40.0 + i
28 44 46
37.5 A
36 4 43 45 -
35. 0 —&— ME 49 4
T T T T T T T T T T T T T
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48 - —-@— ME 48 —— ME —@— ME —&— ME
48 - 47 1
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42 4
T T T T T T 42 - T T T T T T T T
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m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FV0=0
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42 1
40 . 42 _
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T T T 40 B T T T T T T T T T
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46 7 41 -
—o— MW —o— MW —— MW
45.0 +
44
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43 -
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44.0
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36 L T T T T 36 L T T T 40 T T T 42 5 - T T T
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P3-8 BT | SEBEK (D) | Eges B/ | ERes (5/R) |R= E3
06:55 278 150.0 2.583 F  BRi1%e06:55 BE1 (RAERE)
07:25 278 150.0 2.583 = {RRiB007:25 B (REAKEE)
07:55 278 150. 0 2.583 E  1BRi&e07:55 Bzl (GREERE)
08:30 278 150.0 2.583 5| {Ri%@08:30 Bz (FAERSE)
09:00 278 150.0 2.583 = {RRiB009:00 Bz (RFAEEE)
09:30 278 150. 0 2.583 E 1BRi&@09:30 Bzl (RAERE)
10:00 278 150.0 2.583 5| {Ri%@10:00 B3 (FRAERSE)
10:30 278 150.0 2.583 =l RRi8010:30 B (RFAEESE)
11:00 278 150.0 2.583 =l RRiB011:00 Bz (REAEEE)
11:30 278 150.0 2.583 S {Ri%e11:30 Bz (RAERSE)
12:00 278 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:30 278 150.0 2.583 =l RRiB012:30 B (REAKEE)
13:00 278 150. 0 2.583 E| {Rig@13:00 B3h (RE{ERSE)
13:30 278 150.0 2.583 F BRi%e13:30 Bz (GRAERESE)
14:00 278 150.0 2.583 =l RRiB0@14:00 Bz (REAKEE)
14:30 278 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:00 278 150.0 2.583 5| 1RiR@15:00 B35 (REAEES)
15:30 278 150.0 2.583 =l RRiB015:30 B3 (RFAKEE)
16:00 278 150. 0 2.583 El BRige16:00 Bzl (RAERERE)
16:30 278 150.0 2.583 5| {Ri%e16:30 B3 (FRAMERSE)
17:00 278 150.0 2.583 =l RRiB0@17:00 Bz (RFAEEE)
17:30 278 150. 0 2.583 F BRige17:30 Bz (GRAERESE)
21t 6116.0 (22)%) 3300. 0 3203 KEC: 2080.0, PH: 5.8

FHERECE (1927.0 vs 4467.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1808 3

1000 A —@— PPFD_obs

P3-8 0, Day=71 (2025-06-08)

150 A

100 A

50

200 3

150 -

100 -

50 A

2500 2500 60
055

20 Warning: lcol [FVI',| "FVO’'] missing 60

<

lg

m
=

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=435, FV0=0 m=505, FV0=0

48
—-— ME —o— ME 48 - —-o— ME
44 -
46 -
46 -
42 -
40 44 7 44
38 1 42 - 42 -
-o— ME
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 435 440 445 505 510 515
m=555,m FV0=0 m=595,m FV0=0 m=630,m FV0=0 m=665,m FV0=0
—-o— ME —— ME —— ME —— ME
46 -
. 46 -
26 46
44 -
44 a 44 . 44 T
42 42 4 42 7
40 40 10 40
T T T T T T T T T T T T
555 560 565 595 600 605 630 635 640 665 670 675
m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
47 1
—o— ME —— ME —— ME —— ME
46 1 46 - 46 - 46 -
45 - 451 7
44 - 44 44 - 44 -
43 43 1 43 +
42 1 49 42 - 42 -
41 _ 41 T 41 T
40 T T T T T T 40 T T T 40 T T T
695 700 705 725 730 735 755 760 765 785 790 795
m=815,m FV0=0 m=850,m FV0=0 m=885,m FV0=0 m=920,m FV0=0
46 —o— ME 46 - - MNE 46 - MNE 46 —-— ME
44 - _
44 - 4 44 -
42 - _
42 - 42 42 -
40 - 40 4
40 - 40 -
815 820 825 850 855 860 885 890 895 920 925 930



m=935, FV0=0 m=995, FV0=0 m=390, FV0=0

43
—o— ME 47 1 —o— ME —— MW
46 - 42
45 41
44 40
43 N 39 _
42
38
T T T T T T T T T T T T T
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m=630,m FV0=0 m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0
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45 -+ 45
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630 635 640 665 670 675 695 700 705 725 730 735
m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0 m=850,m FV0=0
] 46
—— MW 46 —— MW 46 —— MW —— MW
45 45 45
44
44 1 44
43
43 43
42
T T T 42 L T T T 42 L T T T T T T
755 760 765 785 790 795 815 820 825 850 855 860



m=885, FV0=0

46 1 —— MW
45 -
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42 -
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m=920, FV0=0
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P3-8 BT | SEBEK (D) | Eges B/ | ERes (5/R) |R= E3
06:50 273 150.0 2.583 F[  BR1%e06:50 BE1 (RAERE)
07:20 273 150.0 2.583 = {RRiB007:20 B (RFAEEE)
08:00 273 150. 0 2.583 E 1BRi%e08:00 Bzl (RAEREE)
08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (FAERSE)
09:05 273 150.0 2.583 = {RRiB009:05 B (RFAEEE)
09:35 273 150. 0 2.583 E 1BRi&@09:35 Bz (RAERE)
10:05 273 150.0 2.583 5| {Ri%@10:05 B3 (GRAERSE)
10:35 273 150.0 2.583 = {RRi8010:35 B (RFAEESE)
11:05 273 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
11:35 273 150.0 2.583 5| {Ri%e11:35 Bz (RAERSE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
12:35 273 150.0 2.583 = RRiBe12:35 B (REAKEE)
13:05 273 150. 0 2.583 E| {Rig@13:05 Bzh (RE{ERSE)
13:35 273 150.0 2.583 F BRige13:35 Bz (GRAERSE)
14:05 273 150.0 2.583 = RRiB014:05 Bz (REAKEE)
14:35 273 150. 0 2.583 E BRige14:35 Bz (GRAERSE)
15:05 273 150.0 2.583 5| 1RiR@15:05 B3 (REAEES)
15:35 273 150.0 2.583 = RRiBe15:35 B (REAKEE)
16:05 273 150. 0 2.583 E BRige16:05 Bzl (RAERESE)
16:35 273 150.0 2.583 5| {Ri%e16:35 B3 (GRAERSE)
17:05 273 150.0 2.583 =l RRiB@17:05 B (RFEAEESE)
17:35 273 150. 0 2.583 F BRi&e17:35 Bz (GRAERESE)
=it 6006.0 (22)%) 3300.0 B WHKEC: 2080.0, PH: 5.7

FHEKRECE (1877.0 vs 4207.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=70 (2025-06-07)

| 4000
150 Fo———=—F——————F——————F-—————F——————F-—————F——————F——————F——————F——————F——————F—————]
VI, V&%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2992
9500 5%661— 3000
100 + 335
2000 - 2000
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- 1000
110 Warning: lcol [FVI',| "FVO’'] missing 20
0 -0
200 4 mmm v — ME
FRV l k maxM | 4°
150 frm—mmm L —4 e
(NN
N 1 111 -
50
 HHIEEEREEENEIEE L 35
1.0 I
n

0.8

0.6 -

0.4 1

0.2 A

Warning: lcol ["WC1',  "WC2'] missing

0.0

0.8 4 optEC0=2600. 0, setECB=2080.0 t

0.6 -

0.4 1

0.2 A

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

o | OPtPHO=6.5, setPHB=5.7 t

0.6 -

0.4 4

0.2 ~

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
: .09 ET= - _ A
400 Bylnit IPD74 02:02: ET=2557 Fg=3150.0 Ro=627.0 [ 4000
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cumET (ml/plant)



m=435, FV0=0 m=490, FV0=0 m=535, FV0=0

47.5 46
—— ME —o— ME —o— ME
45.0 - 441 46 46
42.5 421
44 = 44 a
40.0 401
38 1 42
37.5 - 42
36 -
35 0 T . M_E 40 _
i 40
T T T 34 T T T T T T T T T
600 800 1000 455 460 465 490 495 500 535 540 545
m=610,m FV0=0 m=640,m FV0=0 m=670,m FV0=0 m=700,m FV0=0
46
14 - ME —o— ME 46 - - ME 46 r\ —o NE
44
42 14
44
40 - 42 1
42
38 1 40 42 A
36 40 -
38 -
40 1@
T T T T T T T T T T T T
610 615 620 640 645 650 670 675 680 700 705 710
m=730,m FV0=0 m=760,m FV0=0 m=790,m FV0=0 m=820,m FV0=0
i 46
46 - ME 46 —— ME 46 —o— ME —&— ME
45
44 44 44 - 44
43
49 - 42 - 42 - 42 1
41
i | 40 -
40 4 40 40 0
730 735 740 760 765 770 790 795 800 820 825 830
m=850,m FV0=0 m=880,m FV0=0 m=910,m FV0=0 m=945,m FV0=0
46 - 46 A 46 -
—— ME —— ME —o— ME 46 —o— ME
45 45 - .
44 i
44 14 0l
43
43 43 -
42 7 42
42 - 42 -
7 41
. 41
40 10
T T T T T T 40 i T T T 40 - T T T
850 855 860 880 885 890 910 915 920 945 950 955



m=980, FV0=0
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T T T
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m=490,m FV0=0
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41 -
40 -
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T T T
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m=670,m FV0=0
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43 -
42 -
41 -
40 -
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m=790,m FV0=0
45 - —o— MM
44 -
43 -
42 -

790 795 800

m=1030, FV0=0
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m=455, FV0=0
40 { —@— MW
39 -
38 -
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